MIAMIDADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2508

NOTICE OF ACCEPTANCE (NOA)

Coastal Millworks, Inc.
3810 Consumer Street
Riviera Beach, FL 33404

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Mahogany” Outswing Wood Casement Windows-Impact Resistance

APPROVAL DOCUMENT: Drawing No. ICW 61797-W, titled “Mahogany Impact Casement Windows”,
sheets 1 through 9 of 9, prepared, by WEC, dated 6/17/97, bearing the Miami-Dade County Product Control
Revision Renewal Stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA.. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 98-0312.01 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 02-0624.02

Expiration Date: June 10, 2007
Approval Date: August 08, 2002
Page 1




a4 N r = ) 4
VENT OPTIONS (AS YIEWED FROM EXTERIOR) |
l\
(0)] o
HARDWARE VARIABLES 5.
(3-0" x 8'-0" MAX. SASH SIZE) 2 © ;0] (>
(&} z 4
Z = S
x w (W]
WINDOW NO. HINGES | SCREWS FIXED = O ¥ q
(=) L] [72)
HEIGHT UNIT SIDES &
On TO 4’_01: 2 5 ng
4'-1" TO 5'-0" 3 6 &
5'-1" TO 6’0" 3 )
6'—1" TO 7'-0" 4 8 p
7'-1" TO 8 -0" 5 9
S ES
WINDOW NO. VERT. CAMS g1
HEIGHT ON ACTIVE LEAF .= 8
0" TO 4’0" 2 -
’ ” ) ” ; ﬁu
¢ -1" 10 5 -0 3 1235
5-1" TO 6 -0 3 §
6'—1” TO 7’—0" 4 / ] > :— S
7-1" TO 8-0" 4 4 i 55522 |8
7, é U<2Q&' @
7 g 25422 |2
o <o LEFEWM =
Fr = O =
WINDOW NO. CAMS SCREWS FIXED UNIT NN / ~ 7\
WIDTH TOP & BTM | TOP & BTM. “ g N
1'-4" & LESS 1 2 X " .
1'=5" TO 2'—4" 2 3 O g
2—5" TO 3-0" 3 3 =, . "
. \ o £ 8 4 ol
ALLOWABLE STILE & RAIL VARIABLES M7\ W/ \ To L 2 g = a
/7 ”~ — = . d o
! s z S N
TESTED ALLOWABLE AN y T -8 5z 8%
TOPRAIL & VERTICAL STILES | 1 7/8” FACE | UP TO 4" FACE 7 \ e 5‘|’ 5 48 -
BOTTOM RAIL 2 5/8” FACE | UP_TO 9" FACE X N\ M| 7+ o p : 4 8 MR N
L L @ 3 2 5N SE8
33 o | |s E38 58
[1) a
2o | e
MAHOGANY IMPACT CASEMENT WINDOWS — =0 ‘i
2 I~
WINDOWS ARE 2 1/4" THICK MORTISE AND TENON HARDWARE 1S SIEGENIA STAINLESS STEEL W/ ANCHORING> WINDOW FRAME TO WOOD BUCK 8 |
HONDURAN MAHOGANY F.A.S. GRADE, ALL CLEAR MULTI-POINT MUSHROOM CAM LOCKING SYSTEM 8 x 2 3/4” S.S. WOOD SCREWS 5° FROM CORNERS, = 5 '
. i MODEL # FAVORIT-TIMBER-4TL 1)-EACH SIDE, CAM KEEPER, BALANCE AT 12~ 0C m| N o
GLASS 1S 9/16" IMPACT GLAZING MADE UP OF 1/4" HEAT WITH 1 1/4" MINIMUM PENETRATION INTO BUCK - %’
STRENGTHENED/ .090 SAFLEX INNER LAYER (BY MONSANTO)/  GLAZING SEALANT IS G.E. STRUCTURAL GLAZING (MIN. 3 PER LEAF @ HEAD & SILL) PER CALCULATIONS; <:: o7 i d 3
1/4" HEAT STRENGTHENED SEALANT SSG 4000AC, BLACK AND CONFIRMED WITH SUPPORTING CALCULATIONS £ o E N =
JAMBS, BRICKMOULD AND STOPS ARE HONDURAN MAHOGANY WEATHER STRIPPING IS Q-LON COMPRESSION E— 2l - g S
F.A.S. GRADE, ALL CLEAR BY SCHLEGEL #QDS 500 ANCHORING: WOOD BUCK TO CMU f / ) c Z 3§ s
: 1/4" dia. x 3" TAPCON SCREWS 4~ FROM EACH Q1 5 2= § 2
DESIGN PRESSURE RATING = +70 PSF, -70 PSF HINGES ARE HAGER 4"x4" SQUARE CORNER CORNER, BALANCE 12" 0.C. MAX. (SI‘AGGERED) <:: 9 hcu b :E‘"éi E
HURRICANE PROTECTION SYSTEMS (SHUTTERS) #1191 OR #1279 W/ 4—§8 S.S. WOOD SCREWS (MIK.) QI‘QDAgszT)EAAgELmA%ALH&% gIEAD AND SILL AT ok - gf£EsS 3
ARE NOT REQUIRED AT ANY INSTALLATION WITH 1 1/4" MINIMUM EMBEDMENT INTO CMU " © £ 2 25riiWNEg
(PER DADE COUNTY) (MIN. 3 PER LEAF @ HEAD & SILL) PER CALCULATIONS; O ma o 83%% E
AND CONFIRMED WITH SUPPORTING CALCULATIONS E gagz;;; £'§§
\_ J J C




\

InVYd 01X T \

(*dAL) HLOIM HSYHS ,9¢

SN
o

vR) HOM LN TIV 8380 JBes

/

!

\

\
3

_a

MAX.

17"

/'J. G0 LHOMAYO Jos
T
H

.S

“TdAL XV CXVA
Al

nA

A

xz<

901 DAYLIGHT OPN'G. &

]
1
» 4

N

WEEEN

e

H =FH
o

1
» &

/

'

|

T

» &
¥

9 S Q Yo @
{ ] I i 1 ] 1= 8 —
5" 5"
(NAX.) MAX.
N9 ~210 ~2KO
HORIZONTAL : ‘
@SECTION EXTERIOR ELEVATION
SCALE: 3/4° = 1'-0" SCALE: 3/4° = {'-0°
ARTEZTS =
2”{2':5@ 39% gg
$pE-8~8 2.3 *H
B233,%5% - gan 39
sS85 x4 v ap
- £ oo - == % & =
3 2Ead:  EEF 3 8|9S =)
x DT o> £ 5 » E
g SZ3uk ;§;( @ AR
L PP RTE 2 3| =g=! 96" WINDOW SASH HEIGHT
g w5827 £e ¢ % llon
a £8 23 [ | ol =
g ;E"-cg, Tz oz - — 100" OVERALL UNIT HEIGHT (MAX.) N
5 3x3e I "
Z g0
5 2gIR 2
g2 - g
&
\ y
COASTAL MILLWORKS, INC.| (T 1 g, | (o s
MAHOCANY SCALE: SHOWN
l y . IMPACT DATE:  06-17-97 ICW 61797-W
3810 Consumer Street, Riviera Beach, FL 33404 CSEMENT SHEET No:
Phone — (561) 881-7755 |Fax — (561) 881-7766
L ) | systen 2 OF 9 |
(" METRO DADE USE ONLY "\ ( wetro odoe use ownwy N\ [ rtesr 1B USE ONLY Y [ ENGINEER USE ONLY N
PRODUCT RENEWED APPROVED A5 COMPLYING Wi T
83 complying with the Florida SOUTH FLOR:DA BUILDING CORE
Buiding Code
Acceptance No 02-0624.02
Expiratign Date NG [t Q] O 3
Bynﬁ&&_—@”mmmdmc‘m =2, BUILDING coos co? mmcs OFFICE
Division % [ ACCEPTANCE NO. ﬁf’g 03110\
i
\_ J J J L y,




P.T. 2 X 6 BUCK

1/4" SHIM SPACE ~

- N WEAN A AN g\m

3
'T6
———/
|
al /
L M\\\
AN\
In
5 ”
8

\ » .
AE |\ NS

15 x 1 1/2° S.5 ANGLE BRAD -

AP o.c./ (PNEUNATIC) \ =
mmi‘

- AR --

Q-LON WEATHER smmnc/ 4

ya
G.£. STRUCTURAL SILICONE /

GLAZING SEALANT SSG4000AC

OPERABLE HEAD DETAIL
®WOOD CONSTRUCTION

SCALE: 6" = 1'-0"

° ° o © °
[&) ° °
z ° ° b o
= o o ° °
% b ° b o ° ° ® ° ?)
- ° © MASONRY HEADER p» o o b 2
[ 3 ° o 0
2 X ° °
- ° o° o °
\‘ e ° ° ° ° < .
\ o
] . b o . ° bo ° ° 1%;
., b [} °
¢ ° ° ° ° ° ° °
AN PT. 2 X 6 i‘@@"(‘((\
1/4" SHI '~
e s =
-\ AN WANGVELNE WA
s i 5 # x \ %
e Z3 w2 z
4 -— z A
| —
: VA
e W\
3
P
<]
#1S x 1 1/2 S.S ANGLE BRAD —— /
© 12" 0.C. (PNEUMATIC) 0-LoN WEATHER $TRPFING
#8 x 2 3/4° S.S. WOOD SCREWS 5" FROM cclvmzns.
(1)~EACH SIDE, CAM KEEPER, BALANCE AT 12"} 0C
WITH 1 1/4™ MINIMUM PENETRATION INTO BUC V
(MIN. 3 PER LEAF © HEAD X SILL) PER CALCULATIONS: /
AND CONFIRMED WITH SUPPORTING CALCULATIONS
A 1/4" dia. x 3° TAPCON SCREWS 4" FROM EACH /
CORNER, BALANCE 12" 0.C. MAX. (STAGGERED) g&zui‘smscc‘;‘uﬁ ‘-};}SJGC‘OO%EOAC OPERABLE HEAD DETAIL
ADD (2)-ADDITIONAL AT HEAD AND SILL AT
T~ ASTRAGAL AND HINGED MULLION 5 CMU CONSTRUCTION
WITH 1 1/4" MINIMUM EMBEDMENT INTO CMU NOTE: Osc;u:: T

(MIN. 3 PER LEAF © HEAD & SILL) PER CALCULATIONS;

AND CONFIRMED WITH SUPPORTING CALCULATIONS REFER TO SHT. 1| FOR GENERAL NOTES

\. y
a \  ( prosect Naue: DRAWN BY:  WEC SHEET No: )
COASTAL MILLWORKS, INC. | | uooar |SE°7 qom | & ICW 61797-W
| y . IMPACT DATE:  06-17-97 e -
3810 Consumer Street, Riviera Beach, FL 33404 Cﬁﬁggf 7 }.' SHEET No:
. Phone — (561) 881-7755 | Fax — (561) 881-7766 J | svstem e 3 OF 9
(" METRO DADE USE ONLY Y [ weETRO OADE USE ONLY Y ( teEST ws USE ONLY Y [ ENGINEER USE ONLY w

APPROVED AS COMPLYING WITH THE
PRODUCT RENEWED
23 complylag with the Florida SOUTH/FLOR!DA BUILDING CCDE

Buiding Code DATELS Q— -
Acceptaace No02-0024.02 oy —Qt‘%
2 e O

PRODUCY CONTROL DiV-S ON
SUILDING CODE COMPLIANCE OFFICE

Division 7% ACCEPTANCE No.q[$’03\1~0‘
\_ J \_ N J . J \_ J




[ A
5
| '3
L CCCCCO cavmnc
% j P.T. 2 X 6 BUCK
. 1/4" SHIM SPACE '~ #8 WOOD SCREW ® 12" OC
B = |+ WITH A MIX. OF 3 PER SIDE
NN AN NN N
el | . X \ :
: R R =
- "
= I \\\\ RO TTINT \\""°°
e A ETETR =
2 : r~i00
n TN 3 -
, %" p 2% \- CAULIONG
#15 x 1 1/2" 5.5 ANGLE BRAD .
© 12" 0.C (PNEUMATIC) T . =
mmi
1” n ” ”
FULEAE ]S
, T b
1 » or
| A b3, i
/ I
G.E. STRUCTURAL SILICONE / '
GLAZING SEALANT SSG4000AC
FIXED HEAD & JAMB DETAIL
WOOD CONSTRUCTION
@sc.m:; 6 =1-0
* ° ° e o °
T o ° ° ° ° b
E ° o ° ° ° o
' X | > . N o ° ° e .| 8
o © MASONRY HEADER p o o b e
Z e o, o 'i' [-] Q o °
S [-) o° -] (]
K ¢ " ° o ° 2
. ° ° °
[ D o ° D o ° 15““ o
. . ° 8
Q . N . .
° ° ° o ° o o
\'\ =T (| CRiKRa
| c P.T. 2 X 6 BUCK
1/4" SHIM S ~ #8 WOOD SCREW ® 12" OC
S ° || ——T WITH A MIN. OF 3 PER SIDE
F3 LN
= g N
= v o0
I ][O R n
s \\K\/ AT ﬁﬂm T
—ieN \ \ a \:
e : ~100
%” A 2%" . \\ CAULKING
#15 x 1 1/2" S.S ANGLE | BRAD ——
@ 12" 0.C. (PNEUMATIC) R . =
m!mi
’ %n %n 1%" gn
#8 x 2 3/4" 5.5. WOOD SCREWS 5” FROM CORNERS, .
(1)-EACH SIDE, CAM KEEPER, BALANCE AT 12" OC » /
WITH 1 1/4” MINIMUM PENETRATION INTO BUEK 5 91w
(MIN. 3 PER LEAF © HEAD & SILL) PER CALCULATIONS; 4
AND CONFIRMED WITH SUPPORTING CALCULATIONS / |
1/4" dia. x 3° TAPCON SCREWS 4 FROM EACH /
A CORNER, BALANCE 12" 0.C. MAX. (STAGGERED) G.E. STRUCTRUAL SILICONE FIXED HEAD & JAMB DETAIL
ADD (2)~ADDITIONAL AT HEAD AND SILL AT GLAZING SEALANT SSG4000AC
"T" ASTRAGAL AND HINGED MULLION CMU CONSTRUCTION
WITH 1 1/4" MINIMUM ms:ou:m) INTO MU NOTE: @scur; T
(MIN. 3 PER LEAF © HEAD & SILL) PER CALEULATIONS; ’ '
L AND CONFIRMED WITH SUPPORTING GALCULATIDNS REFER TO SHT. 1 FOR GENERAL NOTES )
( N Y ( rrosct name: DRAWN BY: wEC SHEET NO: A
‘N SCALE: SHOWN -
14 3 . IMPACT DATE: 08-17-97
3810 Consumer Street, Riviera Beach, FL 33404 Cﬁgggg"‘ SHEET No:
Phone — (561) 881-7755| Fax — (561) 881-7766 | svste 4 OF 9
\_ J J
(" METRO DADE USE ONLY ) rucmo: DADE USE ONLY Y [ TEST LAB USE ONLY Y [ eNcIiNeer use onuy N
APPROVED AS COMPLYING WITH THE
PRODUCT RENEWED SOUTH FLORIDA BUILDING CODE
as complying with the Florida
Buiding Code DATE s
Acct.epta‘nce No_{2~ .02 BY
Expirg Dm% PRODUGT CONTROL DIV:S-ON
&m& BUILDING CODE COMPLIANCE OFFICE
I:)ade Product Control ACCEPTANCE NO. %({ 021 1-0 |
L '3 J \. J \. J \. J




(" A N
/———'""’r“
LAMINATED GLASS 9/16" OVERALL THICKNESS —1 |
MADE UP OF 1/4" HEAT STRENGTHENED
GLASS / .090 SAFELEX INNER LAYER (BY
MONSANTO) / 1/4" HEAT STRENGTHENED |GLASS 7 3 . 5l
8 16 16
BRASS N BAR —
AN 7 e =z
U0
=
Q-LON WEATHER STRIPPING \> 1 T 1 é"
- _n v:m
e b ] = | g-
X i ~1 . ;-
] | / | o =
Mg e i = 7%
N P —i~t LEAF WEATHER <,
=k // { / { /T AN s L L STRIPPNG
e s /‘/_
N/ Y o i L
T y AV
-+ N ™™
/::/ 77" ==7 =,..
7R T T I NT 777
OPERABLE SILL DETAIL
WOOD CONSTRUCTION
@scu: 6" = 1'-0"
9/16" IMPACT GLAZING MADE OF /W#
(2) 1/4] HEAT STRENGTHENED SAFETY _ | — ¢
GLASS W/ .080 SAFELEX INNER LAYER
FRICTION BAR In 9 b
8 ¥ %
0-LON I::m STRIPPING \ -
~_ 1y B
1
S, y | » )
SNV R NG N R =
~ ~ T 3m 7n
OPTIONAL KTOOL OR JAUB EXTENSION \ \\ 1& _8§—1 s,
S e - 23 (2] S
. //////,\TN\F/; =~ '
b TaA N
o AN A | e
["e/ 11
i
8/ [ [ 7
4 PT BUCK
«
g
o
i ° ° o
#8 x 2 3/4” S.S. WOOD SCREWS 5"} FROM CORNERS, - ° o
(1)-EACH SIDE, CAM KEEPER, BALANCE AT 12" 0C o
WITH 1 174" MINIMUM PENETRATION INTO BUCK V
(MIN. 3 PER LEAF © HEAD & SILL) AER CALCULATIONS; oy o a
AND CONFIRMED WITH SUPPORTING CALCULATIONS ° ° o , H;SONRY WALL . o
° ° °° ° v ° ° 0 e v °
A 1/4° dla. x 3 TAPCON SCREWS 4° FROM EACH A,
CORNER, BALANCE 12° 0.C. MAX. (STAGGERED)
ADD (2)-ADDITIONAL AT HEAD AND SILL AT
*T™ ASTRAGAL AND HINGED MULLION OPERABLE SILL DETAIL
WITH 1 1/4" MINIMUM EMBEDMENT INJO CMU - NOTE: CMU CONSTRUCTION
(MIN. 3 PER LEAF © HEAD & SILL) PER CALCULATIONS; REFER TO SHT. 1 FOR GENERAL NOTES @ _—
L AND CONFIRMED WITH SUPPORTING CALCULATIONS SCALE: 6" = 1'-0 y

r—

e , ) PROJECT NAME: DRAWN BY:  WEC SHEET NO: h
COASTAL MILLWORKS, INC. | |*moaar | 25", CW 61797-W
: SHOWN .
. /] y . IMPACT DATE: 08-17-97
3810 Consumer Street, Riviera Beach, FL 33404 Rl SHEET NO:
-/
}
!
( METRO DADE USE ONLY "\ { METRO DADE USE ONLY N\  { 1esT waB usE owwy Y [ encingzr usE onLy A
!
: APPROVED AS COMPLYING WITH THE
FRODUCT RENEWED i N 'LDING CODE
as complying with the Florida l SOUTH FLORIDA BY
Buiding Code | CATE. w2 \Q 19&
Acceptance No 24.02 i oy s i
Expiration Date ! BY AL —
‘ PROCUCLCAnTR: iV S Un
- | nane 0 '7"’._-;..‘\ GF nE
ﬁ%”“ ULDING CODE COMP CE‘L i
Division . \eoeoTancE H0.Q€ 03 o)
% i
}
\_ V2 ; J J Y,




( ™
LAMINATED GLASS 9/16" OVERALL THIGKNESS —1— |
MADE UP OF 1/4™ HEAT STRENGTHENE
GLASS / .090 SAFELEX INNER LAYER (BY
MONSANTO) / 1/4" HEAT STRENGTHENED GLASS 7 g 54
§ 4% 6
48 WOOD SCREWS @ 12° OC I 7 =
| [Vol: o]
I XA/ g
£33 LGN P \ 8
\ /‘5” .-
1% / 4 8.1 Ao T
iy ot S 3 22 ' “Q\, )
| Ml‘_ 4 F— J e »
: |~ - <
e // / / / l/ I :;Eé{/ ? 4 o
aani—
< -—
- 7./ B " / / :
7_-|| <L -— =
VAV YAV AAVA
FIXED SILL DETAIL
WOOD CONSTRUCTION
@scu.s: 6 = -0
LAMINATED GLASS 9/16" DVERALL THICKNESS —t+— | ¢
MADE UP OF /4" HEAT STRENGTHENED
GLASS / .030 SAFELEX INNER LAYER (BY
MONSANTO) / 1/4" HEAT}STRENGTHENED GLASS 7u 9. 5.
8 Ll Jil3
8 WOOD SC e 12" oc fm / .
zum 3 PER SID ) 12 ~( w0
£ oe/%m g oo ]
%
OPTIONAL STOOL OR JAUB EXTENSION \ 13’\ 1»
\ 8 o 5»
\ 3" 8’1 I‘«:o
\ T 24/ T w9
[/ /7 ya \ A - P
// J{ [ / { ‘_ T} : ? z CAULKING
) F oS il
o™
.",.-, N A==
: / d ‘/ / / :
I 3 .
/[ L 8] [ [/ [/ /7 [
®/ B 1/4" S o3 73,“\
g PT BUCK __A
[a] D
. L
Q o [) [) ) [
- \4 7] ° °
#8 x 2 3/4” S.S. WOOD SCREWS S5~ FROM [CORNERS, .
(1)=EACH SIDE, CAM KEEPER, BALANCE AT 12" 0C ° v o °
WITH 1 1/4" MINIMUM PENETRATION INTO BYCK ° ° ° °
(MIN. 3 PER LEAF © HEAD & SILL) PER CALCULATIONS; .
AND CONFIRMED WITH SUPPDRTING w.cuurrons o ° °  ° MASONRY WALL o
| ° ¢ ° Do g ° °
A 1/4" dia. x 3" TAPCON SCREWS 4" FROM EACH 2. A ° v
CORNER, BALANCE 12" 0.C. MAX. (STAGGERED)
ADD (2)-ADDITIONAL AT HEAD AND SILL AT
"T™ ASTRAGAL AND HINGED MULLION T FIXED SILL DETAIL
WITH 1 1/4" MINIMUM EMBEDMENT INTO CM . —
(MIN. 3 PER LEAF @ HEAD & SILL) PER CALCULATIONS; ;]:1(:):;}2 20 SHT. | FOR GENERAL NOTES 8 CMU CONSTRUCTION
L AND CONFIRMED WITH SUPPORTING CALCULAT|ONS : £ SCALE. & = 1-0° y
(" PrRosECT Name: DRAWN BY: wEC SHEET NO: )
CHECKED BY:
COASTAL MILLWORKS INC. | (e | 58 o ICW 61797-W
IMPACT DATE: 08-17-07
3810 Consumer Street, leero Beach, FL 33404 Cﬁggg‘fr SHEET NO:
Y, Y,
(" METRO DADE USE ONLY ) rHETROt DADE USE ONLY "\ ( TEST w8 USE onLY Y [ encineer use onLy w
PRODUCT RENEWED g APPROVED AS COMPLYING W!TH THE
as complying with the Florida | SOUTH FLORIDA BUILDING CODE
Buiding Code
Acceptance No -0 .02 ' DATE. 19#
Expiration Date 8. WA %
W ; pRODYC] CETROL DIV:S ON
i Dade Produ:t Coatrel ; BUILD:NG CODE COMPLIANCE OFFICE
Division ; G-
7% ‘ 1CCEPTANCE NO.Q‘__.QB.LZ_QJ——-
L Y, L Y, \. J \_ J




s N
I» 9» 5 4 “t 2
8 4s 5 !leL i é
Q-LON WEATHER STRIPPING I 47X4" BRASS
Y HINGE
#15 x 1 1/2" S.5 ANGLE BRAD %
0 127 0.C. (PNEUMATIC) 4 ] '
A 27N
N 7 N |
2oy [T~ / LT oW T
T (o - FC7 N\ OPEN POSITION :
, L E[ Lk 7\ \ ,
ol B" 24 / / A \ ' N\ -
— 24 \ 7 \ I
Jivs I, N NAN
® \ // \ \\
—i=t e 4 A4 SHIN X NN N ‘
\\TY N \ \\ W :
ANV N N |
P.T. 2 X 6 BUCK CAULKINGAY, '\ ;
W ;
OPERABLE JAMB DETAIL
@WOOD CONSTRUCTION
SCALE: 6 = |'-0°
In 9n 54| 1 wl In Sn
8 Gl I a} i1l 4 '3
/ 7 4°X4" BRASS !
Q-LON WEATHER SIRIPPING | I HINGE WINDOW IN
s, OPEN POSITION
51512" B.é{%PN?JESM:Nn%E BRAD \ 4 ] A /
/1. /'a_"/ ///¢ \‘/ \ i
3 F\/?'/l/ : ya p t
z 77 \ ;
anasiein=arn P \ ;
: 2{ i ! \ e:\ :
M 6" f F ; / \ I AN
-— LA '\ \r s \
1 /e, /S SV NN
dhere p A% \3\\ A AN
. 1/4" SHiM SPACL . \\\ N \\ N W
. o~ \\\\ \ AN
/ T. 2 X 6 BUCK AN
. -~ \M
2 0. ’ \\\ \
@/ - (T ~ ‘
. / o o ° o L J
. "o N V o B !
.// ° 0w ° ° '
M . } ° C.M.U. WALL° P o ° |
* e« /e o o ° !
) x o ° ° °
Lo e ° ° |
'., ° v :
k | v o o ° °
| N ° !
#8 x 2 3/4" S.5. WOOD SCREWS §" FROM CORNERS,
(1)-EACH SIDE, CAM KEEPER, BALANCE AT 12" OC
WITH 1 1/4" MINIMUM PENETRATION! INTO BUCK
(MIN. 3 PER LEAF © HEAD & SILL)| PER CALCULATIONS;
AND CONFIRMED WITH SUPPORTING CALCULATIONS
OPERABLE JAMB DETAIL
A 1/4" dla. x 3" TAPCON SCREWS 4" FROM EACH
CORNER, BALANCE 12° 0.C. MAX. ($TAGGERED)
ADD (2)-ADDITIONAL AT HEAD AND }ILL AT CMU CONSTRUCTION
“T* ASTRAGAL AND HINGED MULLION 10
WITH 1 1/4" MINIMUM EMBEDMENT INTO CMU = NOTE: SCALE. 8" = 1°-0"
(MIN. 3 PER LEAF @ HEAD & SILL) |PER CALCULATIONS; REFER
L AND CONFIRMED WITH SUPPORTING GALCULATIONS TO SHT. 1 FOR GENERAL NOTES )
(" 4 Y ( rrosect nawe: DRAWN BY: WEC DRAWING NO
COASTAL MILLWORKS, INC. | | oo | 2" |
: SCALE: SHOWN
L , : kil o ICW 61797-W|
3810 Consumer Street, Riviera Beach, FL 33404 Cﬁgg‘gw SHEET NO: ;
L Phone — (561) 881-7755 Fax — (561) 881-7766 ) SYSTEM v OF 9 Js
(M[TRO DADE USE ONLY D (NETRO CADE USE ONLY ) rTE'ST LAB USE ONLY ) f[NGIN[ER USE ONLY \!
PRODUCT RENEWED APPROVED AS COMPLY!NG WITH THE
as complying with the Fiorids
Bulding Code SOUTH FLORIDA BUILDING CODE
Acceptance No 02-06024.02
Expiration Date, ' '
Midml Dade Produt Contrul I BUILDNE CODE COMPLARCE OFFICE
'% i ACCEPTANCE N3, C\,‘i_ﬂall_a_l__ |
. ¢
. y L J J J




%" 2%" - #8  WOOD SCREWS
d /— © 12" 0.C. (MIN. 3 PER SIDE)
— v
#8 x 2" WOOD SCREWS / M tnucoI
© 12" 0.C. STAGGERED q s
\\ /
\ \ ':P
= \ Z?% 1 / _ / CAULKING =
/ / lsucate / T4
mﬁf 6" ‘ //;’ / X
/ -,
VA A g -'
Eeo| Ee PT. 1 X6 ey /Z,A rJ ),
3 AL s 7 /7
n 3n / ~ / ///
ol \ \ | I // N Y ’//
= 1 ~\ y \, 7/
B SN S wioow v &
~
ey W\ VT ~__ A S oo OPEN POSITION 7
/ T AN 4
4 YAS 12 = \\\\\ ~ //
—/ XNy
#15 x 1 1/2° S.S ANGLE BRAD Q-LON WEATHER STRIPPING R
@ 127 0.C. (PNEUMATIC) % i\ o B
o HINGE.
‘ 1/2" GLASS BITE MIN. (TYP.)
LAMINATED GLASS 9/16° JOVERALL THICKNESS /
E U OR 1 74" WEAT EVRENGTHENED FIXED MULLION DETAIL
GLASS / .090 SAFELEX INNER LAYER (BY @
MONSANTO) / 1/4" HEAT, STRENGTHENED GLASS SCALE: 8" = 1'-0"
14
Zﬂ i‘ »
8 4% 5, 2
6
#8 x 2" WOOD SCREWS Q-TON WEATHER STRIPING / 2 Do
© 12 0.C. STAGGERED k, :
\ | LEAF WEATHER
STRIPPING
\ ~ e
2 NI TR o
ot / 5" /
] W AN/ /L ]
“0| e f PT. 1 X6 e
! X
| JEAAY \ \ &
ol \ A/\ i
e DAL \\\i e
/ / 1§ reo
852 ol (entinAne) BRAD_/O—LON WEATHER STRIPPING
Eeo 1/2" GLASS BITE MIN.
NOTE:
" REFER TO SHT. 1 FOR GENERAL NOTES

LAMINATED GLASS 9/16"
MADE UP OF 1/4" HEAT
GLASS / .09C SAFELEX
MONSANTO) / 1/4" HEA

OVERALL THICKNESS ———-—/

STRENGTHENED
NNER LAYER (BY
T STRENGTHENED GLASS

®

OPERABLE MULLION DETAIL

SCALE: 8" « 1'-0"

_J
Y ([ erosect mane: DRAWN 8. weC DRAWING NO. h
MAHOGANY || SCALE:  stown
C OASTAL MILLWORKS y IN C . IMPACT DATE: 08-17-97 ICW 61797—-W
3810 Consumer Street, Rivierh Beach, FL 33404 CQVSIEggQT SHEET NO:
L Phone — (561) 881-7755 |Fax — (561) 881-7766 SYSTEM 8 OF 9
J \ w,
(NETRO DADE USE ONLY rNETRO DﬂDE USE ONLY A ﬁTEST LAB USE ONLY ) (CNG(NE[R USE ONMLY h
APPROVED AS COMPLYING WITH THE
PRODUCT RENEWED
e the \ SOUTH FLORICA BUILDING CODE
Buiding Code
Acceptance No )2-0024.02
Expiration Date N/ (O[O
By et~ o2 BUILDING CODE COMPL.ANCE OFFICE
Division ACCEPTANCE MO, %,9_-123 120 4
L : \_ J J \_ J




\.

g"
—b—T‘——
it |
{_ﬁ TOH RAIL
~
1LX8S
STd.‘ /
L]
i
STILE

l

BOTTOM RALL

=

NN
Tw
8
FRONT VIEW

MORTISE & TENON

@i SASH

i

NOT TO SCALE

(DIAGRAMMATIC ONLY)
}

HEAD

3 (MIN.) #8 x 2" WOOD SCREWS

3 (MIN.) #8 x 2" WOOD SCREWS

o
O

JAMB

JAMB

SILL

ISOMETRIC VIEW
JAMB/JAMB/SILL _CONNECTION.

NOT TO SCALE

(DIAGRAMMATIC ONLY)

\_

Miaiai Dade Product Control

Division ;

8Y %-__ .
propucl_CEnIR0L DV S .-

? BUILDING CODE COMFLANCE OFFICE
i ACCEPTANCE NO.%S;Q,’LLLP_L—

i
' y,
e ! w (" PROJECT NANE: DRAWN BY: WEC SHEET NO:
COASTAL MILLWORKS, INC. | |*auoaqr | &, ICW 61797-W
ALE: SHOWN —
i y . IMPACT DATE: 08-17-97
3810 Consumer Street, Riviera Beach, FL 33404 Cﬁggg{f SHEET NO:
Phone — (561) 881-7755 | Fax — (561) 881-7766 | svsten 9 OF 9 )
(METRO DADE USE ONLY A GETRO DADE USE ONLY fTEST LAB USE ONLY rENGNEER USE ONLY )
PRODUCT RENEWED APPROVED AS COMPLYING WITH THE
#3 complying with the Fiorida SOUTH FLORIDA BUILDING COSE
Buiding Code
Acceptance No 2
Expiration Date






